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Note : This paper is of forty (40) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= pkyhl ¼40½ vadksa dk gS tks rhu ¼03½ 

[k.Mksa ^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks 

bu [k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa 

ds mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nine and half (9
1

2
) marks each. 

Learners are required to answer two (02) questions 

only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<+s ukS ¼9
1

2
½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Explain the concept of speciation and different factors 

that leads to speciation. 

iztkrhdj.k dh ladYiuk rFkk mls lapkfyr djus okys 

dkjdksa dks foLrkjiwoZd le>kb;sA 

2. Explain the phenomena of Recessive Inherited 

Disorders. 

vizHkkoh vkuqokaf’kd fodkj dh ?kVuk dks lfoLrkj 

le>kb;sA 

3. Differentiate between macro and mega evolution. 

eSØks rFkk esxk fodkl esa vUrj le>kb;sA 

4. Explain Mendel‟s principles of inheritance. 

mi;qDr mnkgj.kksa ds lkFk esaMy ds fl)kUrksa dks le>kb;sA 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of four (04) marks each. Learners are 

required to answer four (04) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, pkj ¼04½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Describe how life originated on earth. 

i`Foh ij thou dh mRifŸk dSls gqbZ \ foLrkj esa le>kb;sA 

2. Write short notes on the following : 

(a) Euploidy 

(b) Aneuploidy 

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 

¼v½ lxqf.krk 

¼c½ fo”ke lxqf.krk 

3. Explain how age of rocks and fossil is determined. 

pêkuksa rFkk thok’eksa dh vk;q dSls fu/kkZfjr dh tkrh gS] 

le>kb;sA 

4. Explain briefly taxonomic characters used in 

classification system. 

oxhZdj.k i)fr esa mi;ksx gksus okys ofxZdh y{k.kksa dks la{ksi 

esa le>kb;sA 

5. Write an essay on modern synthetic theory. 

vk/kqfud ofxZdh fl)kUr ij ,d ys[k fyf[k,A 
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6. Explain Gene structure and its function. 

thu dh lajpuk rFkk dk;Z le>kb;sA 

7. Explain binomial and trinomial system of classification 

in taxonomy. 

ofxZdh esa oxhZdj.k dh f}uke rFkk f=uke i)fr dks 

le>kb;sA 

8. Write a short note on the binomial and trinomial 

nomenclature. 

oxhZdj.k dh f}uke ,oa f=uke i)fr dks le>kb;sA 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of half (
1

2
) mark each. All the questions of 

this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk ¼
1

2
½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following statements are True or False : 

bafxr dhft, fd fuEufyf[kr dFku lR; gSa ;k vlR; % 

1. The process of evolution is continuous. (True/False) 

fodkl dh izfØ;k fujarj izfØ;k gSA  ¼lR;@vlR;½ 
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2. The founders of numerical taxonomy believed that 

there are no criteria for grouping taxa. (True/False) 

la[;kRed oxhZdj.k ds laLFkkidksa dk ekuuk Fkk fd taxa 

lewghdj.k ds fy, dksbZ ekinaM ns[krs gSa ;k ughaA  

    ¼lR;@vlR;½ 

3. The process of evolution creates species that are 

ideally fitted to their niche. (True/False) 

fodkl dh izfØ;k vkyk cukus okyh iztkfr;ksa dks rS;kj 

djrh gSA   ¼lR;@vlR;½ 

4. The absence of one of a pair of chromosomes on a 

karyotype is referred to as a “monosomy”. (True/False) 

,d dqiks”k.k ij xq.klw=ksa dh ,d tksM+h esa ls ,d ds vHkko 

esa ,d “monosomy” ds :i esa tkuk tkrk gSA  

    ¼lR;@vlR;½ 

Fill in the blanks : 

fjDr LFkkuksa dh iwfrZ dhft, % 

5. .............. gave the modern classification system. 

----------------------------
 us vk/kqfud oxhZdj.k i)fr nhA 

6. Expand form of ICZN is ............ . 

ICZN dk foLrkj :i 
----------------------------

 gSA 

7. Linked genes can be separated by ............ . 

fyaDM thu i`Fkd~ gksrk gS 
----------------------------

 ds }kjkA 
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Choose the correct alternative : 

lgh fodYi pqfu, % 

8. The phenomenon in which genes are present on the 

same chromosomes is : 

(a) Cross over 

(b) Segregation 

(c) Linkage 

(d) Assortment 

og ifj?kVuk ftlesa thu leku xq.klw= esa mifLFkr gksrs gSa % 

¼v½ ØkWflax vksoj 

¼c½ i`FkDdj.k 

¼l½ fyadst 

¼n½ viO;wgu 

9. Microevolution is : 

(a) A process by which new species of 

microorganism arise 

(b) The process by which any new species arises 

(c) The change of allele frequencies in a population 

(d) None of these 

y?kq fodkl gS % 

¼v½ og izfØ;k ftlds }kjk lw{ethfo;ksa dh ubZ tkfr dh 

mRifŸk gksA 

¼c½ og izfØ;k ftlds }kjk fdlh ubZ tkfr dh mRifŸk gks 

¼l½ vkcknh esa ,syhy vkòfŸk;ksa esa ifjorZu 

¼n½ buesa ls dksbZ ugha 
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10. Which of the following taxa is not included by Von 

Linne ? 

(a) Class 

(b) Phylum 

(c) Domain 

(d) Genus 

buesa ls dkSu&lk oxZ okWu yhu }kjk ‘kkfey ugha fd;k  

x;k \ 

¼v½ oxZ 

¼c½ tkfr 

¼l½ Mksesu 

¼n½ oa’k 
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